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The objective of this study was to assessments the energy consumption and
carbon footprint of rubber production. The production factors in rubber production
process were recorded from 13 southern provinces. The process consists of
transportation, soil preparation, transplantation, cultural practice and rubber tappers.
The production factors were changing the energy value by using energy equivalent
value. Carbon footprint and carbon sequestration was assessments. The study area is
740 farms with 9,126 Rai (1 Rai = 1,600 mz). It was found that the yield is 217.16
kg/Rai/year and 165.70 kg/Rai/year for latex and rubber cup lump respectively, and
43.14 tons/Rai of rubber wood at 25 years old of the rubber tree. The energy
consumption and CO, emission for producing latex is 20.27 MJ/kg and 0.77 kgCO,
eqg/kg respectively. The energy consumption and CO, emission for producing cup
lump is 15.03 MJ/kg and 0.81 keCO, eg/kg respectively. The carbon sequestration of
25 years old rubber tree is 8,719.11 kg CO,/Rai. So, rubber tree can reduce CO,
emission 4,529.49 -5,356.65 kg CO,/Rai it depends on the product. Rubber farm can
reduce CO, emissions about 18.69-34.74% compared with paddy field.
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